The University of the State of New York THE STATE EDUCATION DEPARTMENT

the second of the second of the second of

PROPOSED BUDGET FOR A FEDERAL OR STATE PROJECT FS-10 (03/15)

1.02° 1.00°

· · · · · · · · ·

	= Required Field			
	Local Age	ency Information		
Funding Source:	ESSER II			
Report Prepared By: Richard Santiago				
	Agency Name: Icahn Charter School 5			
Mailing Address:				
tilaming Address.		Street		
_	Bronx	NY State	10461	
	City	State	Zip Code	
Telephone # of Report Preparer: 718 794 :	2341	County: Bro	nx	
E-mail Address: rsantiago	@ccics.org			
Project Funding Dates:	3/13/20		9/30/2023	
Project Funding Dates:	Start		End	
3 - 1	INST	RUCTIONS		
completed application indicated in the application DO NOT submit this form. The Chief Administrat	directly to the appr ation instructions fo orm to Grants Final or's Certification on	ropriate State Educ or the grant progran nce. I the Budget Summ	of copies along with the action Department office as n for which you are applying. nary worksheet must be actly authorized designee.	
 An approved copy of t 	he FS-10 Budget w elope will be used;	vill be returned to the please make sure	ne contact person noted that the contact information	
 For information on but Grants at http://www.c 			or Federal and State Aided	

	5 m	Subtotal - Code 16	\$175,500
Specific Position Tale		Amnoalized Rate of Pay	Project Salary
eacher Assistant 1 for SY2022 and 2023		29250 x 2	\$58,500
eacher Assistant 2 for SY2022 and 2023	1.00	\$29,250 x 2	\$58,500
eacher Assistant 3 for SY 2022 and 2023	1.00	29,250 x 2	\$58,500
			The second second

, \$)	PURCHASED SERVI	CES	
		Subtotal - Code 40	\$317,097
Description of Nam	Provider of Services	Carculation of Cost	Proposed Expenditure
Social Emotional Program(S 2022)	Pretty Brown Girls	165 Girls @ \$218/Girl	\$36,000
Social Emotional Program(S 2023)	Pretty Brown Girls	165 Girls @ \$218/Girl	\$36,000
HS Prep Course(SY2022)	SHSAT	25 Students x 12.5 sessions up to 20hrs/yr	\$6,250
HS Prep Course(SY2023)	SHSAT	25 Students x 12.5 sessions up to 20hrs/yr	\$6,250
Cultural Musical Program(SY2022)	Midori \$ Friends	\$2.500/Day x 30 Days	\$75,000
Cultural Musical Program(SY2023)	Midori \$ Friends	\$2,500/Day x 30 Days	\$75,000
Lead Teacher/New Teacher PD (SY2022)	Educate Inc.	\$1,024/Day x 30 Days	\$30,750
Lead Teacher/New Teacher PD (SY2023)	Educate Inc.	\$1,024/Day x 30 Days	\$30,750
Math Program(SY2022)	Illustrative Mathematics	@\$1,000/session + \$1,097 for	\$21,097

Control Control

SUPPL	JES AND MATE	RIALS	
		Subtotal - Code 45	\$4,513
- Description of item	Gluartity	Unit Coal	Proposed Expenditure
Replacement: Classroom - Materials and Manipulatives (SY2022)	324,00	\$14.00	\$4,513

1 - 1 - 4

Page 1 of 1

BUDGET SUMMARY

SUBJOOLS				
Professional Salaries	15		Agency Code:	321100860982
Support Staff Salaries	16	\$175,500	****	**************************************
Purchased Services	40	\$317.097	Project #:	5891-21-4815
Supplies and Materials	45	\$4,513	<u></u>	
Travel Expenses	46		Contract #:	
Employee Benefits	80		· .	
Indirect Cost	90	÷		
BOCES Services	49		Agency Name:	Icahn Charter School 5
Minor Remodeling	30		-	
Equipment	20			
Gra	nd Total	\$497,110	FOR	DEPARTMENT USE ONLY
By signing this report, I certi- and belief that the report is to and the expenditures, disbut for the purposes and object conditions of the Federal (or any false, fictitious, or fraudi- omission of any material fac- civil, or administrative penal false claims, or otherwise. (1001 and Title 31, Sections 126 202 Date Danielle N Name and Title of Chi	true, compresents, ives set for restete) aw ulent infonit, may sut lies for fre (U.S. Code 3729-373) Signat	elete, and accurate, and cash receipts are orth in the terms and vard. I am ewere that mation, or the oject me to criminal, ud, false statements, or title 18, Section 0 and 3801-3812).	Program Approval: Fiscal Year	First Payment Line #
			Voucher#	First Payment
Finance	e: Log	ged	Approved	MIR